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8
%#
���� %���
� ����*�
��� u(t) �/� ����*�
��� y(t) ($� ��� �.���% *�� 
&

ẏ(t) + 3y(t) = b0u̇(t) + b1u(t)

b0 �/� b1 �� �����
 �����
���� ��% �
� 
��
 #'�� )�����&
 �/� ��*
��&
 &�����+

9 (
���� 
�� u(t) �� �� �����(��%
� ��*�
� �' &�� &� 
�� �% ����*�
������*�
�
�
%#
���� �� ��
#��� �' ��%%�� ����*�
��� ��
������� 
�� �/��' &
�
 �� ���
���(��%
� ��*�
� %�� ��� ��%%�� 
�� &
�
 ($������� �/� (
�&�����+


: 2����% ($� �
%#
���� �&
� ��� ($���������*�� #���� )' (���&����� ���
��� �����(��%
�� ����*�
���+

;"):

#: 5�*� &����� )' b0 �/� b1 �' 
�� ($���������*�� �� ���
 %�� ��� �#�������

& (���&����� )' ��� �����(��%
�� ����*�
���+

;�):

/: 2����% ($� �
%#
���� �&
� ��� (
�&������*�� #���� )' (���&����� ���
��� �����(��%
�� ����*�
���+ <����
 
�� b0 �/� b1 �
� 
��
 #'�� )�����&

�/� ��*
��&
 &�����+

;"):
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2���
��
 #��/��/��%
� ���
�+

�r + � � 1

s
�

�+ � �
y

� 1

s

�+

�−3

�+


: 2����% $&��($���*�(��������� (�'� r ���� y� �
%� 
&*$� �% �� #�*����
�
����*�
� 
����� ��%%�� 
�� *� �))��& ���� �� #�*����
� ����*�
�+

;"):

#: 5��
* 
�� �.���%�� #�=���� ��* � &��
 �' ($�7
��� ����*�
� 
))��/��
�

r(t) =

{
1 0 ≤ t < 2
0 t ≥ 2

2����% ��� ��������
��� ����*�
��� y(t)� t > 0+

>% �� ���� �$�� 
: �))*�(��� �
� �� 
�&���
 ($�7
��� $&��($���*�(����
���� (�'� r ���� y ��������

s + 2

s(s + 4)
.

;�):

"
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2���
��
 #��/��/��%
� ���
�+

�r + � �e F (s) �+ ��
v

+
G(s) � �

y

�−

�� ����
#�� )��/��� ��% �
� $&��($���*�(���������

G(s) =
1

s − 1

��
 ��*���
� %�� �� 39���*��
���

F (s) = Kp +
Ki

s


: 1$� &���
 &����� )' Kp �/� Ki #��� ��� '�����))�
�� �.���%�� ��
#���?
;�):

#: 2����% ��*��
���)
�
%���
��
 Kp �/� Ki �' 
�� ��� '�����))�
�� �.�
���%�� ('� �� ��##��)�� � s = −ωn+

;"):

/: 2����% |Gry(jω)|+ >% �� �$�� #: �))*�(��� �
� �� 
�&���
 ���� &�����
)' Kp �/� Ki �&� #����%%
 |Gry(jω)| ��% (������� 
& ωn+ >% �� ����
�$�� #: ('� �� #����%%
 |Gry(jω)| ��% (������� 
& Kp �/� Ki+

;"):

�
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1�*���� ���
� &��
� ��� �� 39���*��
��� ��*���
� ��%)��
����� ;y: � �� �*�+
8�.���*�
��� ;u: �� ��%%�����
� #������@$��� &����� ��*$� ����*�
��� ���� ���
#������&��������&� %�� �� $&��($���*�(�������

Gu(s) =
1

1 + 5s
.

A*���� &�����*
 #����������@$�� ;z: �
�
��������
� ���($� 
& ����
 ��������
��
�� � ���&�� �
%� 
& ��� ��$�@$�� v� ��% ��)��������
� &
��
������ � #�����
����./�� &��������� % %+

87��&
 �*���� �.�
%�� Gugn(s) �
� #�����&
� 
& �� ($���������* K� �� �����
�����
�� T2 �/� �� ����($���$7���* Td� �&�

Gugn(s) =
K

1 + T2s
e−sTd ,

%�� ($�7
��� ��%�����
 &������ K = 0.3◦6B@$��������� T2 = 50 ���������
Td = 10 ��������+ 39���*��
����� $&��($���*�(������� ��

FPI(s) = 0.15
1 + 30s

s

�r + � �e FPI(s) �u
Gu(s) �+ ��

v
+

�z Gugn(s) � �
y

�−

1$� 
�� ($�#����
 ��*�����*�� 
& ��$����*�� v ������
� �.���%�� %�� �� #�����
��@$���*�&
�� ;��% %���� &
��
#��� z: �/� �� ���� ����� ($� ��*�����* 
&
#������@$��� ;�
��
���*�����*:+ ,�� ���� ������� ($���� %�� �� )��)���������
��*��
��� %�� ($���������*�� Kp = 10� �&� Z = Gu(s)Kp(FPI(s)E −Z) + V


: ���
 ��� #��/��/��%
 ��% ���������
� ��� ��%)����
 ��*����.���%�� ���
�����&� �
��
���*�����*+

;�):
#: 2����% $&��($���*�(��������� (�'� �
����$����*�� v ���� ����*�
��� y �

(
���� %�� �
��
���*�����*+
;�):

/: 2����% ��� %./��� �C����&
�� ��% �� �'*(���&��� �
����$����* ��%�
)�����
� 7�%($�� %�� (
���� ��
� �
��
���*�����*+

;�):

�
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,�%)��
(�
bẏ(t)

17������
(�
k1y(t) + k3y

3(t)

m

Fd(t)
y(t)

�� %
��
 %�� &����� m �/� )��������� y(t) ���&� ����*� =*���� 
& �� ���&
���
��
(� Fd(t)+ ��
 ��� )��*�����&
 (7����� ������� %
��
� �/��' ($� ��� ����7��

(7������
(��� k1y(t) + k3y

3(t) �/� ��%)��
(��� bẏ(t)+ ,�=����
 ����)������
($� y �' �.���%�� ���*�� � 7�%&���+

,�� ���&
��� ��
(��� Fd(t) *������
� &�
 �� �.��
����� %���� %�� $&��($�
���*�(���������

Fd(s) =
Km

1 + s
U(s)

0������ �))*�(� �� 
�� )���������
 %
��
� m &�� )��������� y = y0+


: 1��%����
 �� ����7�� ������'���%����� ��% #�����&�� (7�����%
��
�.���%��
�$����� �������&� ��� �.��
�����
 %����� %�� u(t) ��% ����*�
� �/�
%
��
�� )������� y(t) ��% ����*�
�+

;�):
#: 2����% �� ���7�� ������'���%����� ��% #�����&�� 
&&������� ����* ���

$���
�� )��������� y = y0+
;"):

/: 2����% )�����
 ��� $&��($���*�(��������� (�'� Fd ���� y+
;�):

!
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2���
��
 ��� '�����))�
�� �.���%�� � =*���� ���
�+

�r + � � G(s) � e−sL �+ ��
v

+
� �

y

�−

D&��($���*�(��������� G(s) �� ��
#�� �/� �
� �� $&���������*�(���&��� ωc ��%
�� �&'� 
�� 
&���
 �E
�� (�'� ��� *�&�� 2�����
*�
%� %�� %
� �
� %�� 
��
�������� ��*
 
�� ��� ��**�� %���
� ���"� �
�B�+ 1
�%
�*��
��� ϕm �� %����
"� *�
��� ($� ����
 �����&
��+ 2����% ��� %
E�%
�
 ����($���$7���*� L� �' 
��
&� �
� *
�
����
 ��
#������ ($� ��� '�����))�
�� �.���%��?

;�):
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)�
/���
��(��%����* *��

(s + 3)Y (s) = (b0s + b1)U(s)

������ ����� ���� 
��

G(s) =
Y (s)

U(s)
=

b0s + b1

s + 3

⇒
G(jω) =

b0jω + b1

jω + 3
⇒

|G(jω)| =

√
b2
1 + (b0ω)2

√
32 + ω2

#: ���7 b0 = 1 �/� b1 = 3+

/: ���� )' � &����� �&
��
�� ��% ��� ��%)��E
 �
��� G(jω) �
%�
� �+
<����
 
�� ��� =��� @��
 �������
 �&
� �(�����% ��� *'� 
�� ��**
 ����
n · 2π �
��
��� ���� 
��
 &����
� %�� � ��*����������
 �
%%
��
�* ��
��� ��%)��*
�� 
�� ��#
�� �'�
 �� �
� ��% ��**�� � ($���
 �&
��
���� �

)�����& (
�&������* %��
�� $&��*
 �&
��
���� �
� �� ��*
��& (
�&�����*+
1$�7�
����*�� ('� &� ($�7
��� ;�' ���*� b1 �= 0:�

arg G(jω) = arctan
b0ω

b1

− arctan
ω

3
, b1 > 0

arg G(jω) = −π + arctan
b0ω

b1

− arctan
ω

3
, b1 < 0

�

�




: 9�($� �7��)&
��
#��� Z(s) ��% #���/��
� ��*�
��� %���
� �� �&' ����*�
�
�����#��/���+

Y (s) = (1 +
1

s
)Z(s)

Z(s) =
1

s
(R(s) − 3Z(s))

A� ��� ����� �
%#
���� �
� &� �$�
 �� Z(s)+

Z(s) =
1

s + 3
R(s)

������ &� �
� ����
 �� � ��� ($���
 �
%#
���� �/� (' (�
%

Y (s) =
s + 1

s(s + 3)
R(s).

�(�����% $&��($���*�(��������� �
� �� )�� � ���*� &����� %��($� 
��
����*�
��� ��%%�� 
�� ����*���
� �))� &����� � ��� ��� %��($� 
�� �E�%�
)��&�� �� ���*(��%
� ����*�
� ;�&�+ �� #�*����
� ����*�
�: ��%%�� 
��
*� �))��& ���� �� �#�*����
� ����*�
�+

#: 

)�
/���
��(��%����* 
& ����*�
��� *��

R(s) =
1

s
− 1

s
e−2s

,���
 ����� ���� 
�� ���*�
��� #���

Y (s) =
s + 1

s(s + 3)
(
1

s
− 1

s
e−2s) =

s + 1

s2(s + 3)
− s + 1

s2(s + 3)
e−2s

1$� 
�� #����%%
 y(t) *$� &� �� ��&��� �
)�
/���
��(��%����*+ A� (���
%���
%���*�� �
� &� 
��

L−1{ a

s2(s + a)
} = (t − 1

a
(1 − e−at))σ(t)

0����)���
���� %�� s � (���&���)�
��� ����#�� ����&�����* � ����)�
���
�&��

L−1{ as

s2(s + a)
} = (1 − e−at)σ(t)

5�����
��&� �
� %
� ($�����
 %�� s � (��%��� �&
� &�����

L−1{ as

s2(s + a)
} = L−1{ a

s(s + a)
}

	



&����� ������ =��� 
�� ���
 
& � (��%���
%���*��+

,� #'�
 ��&�����
��(��%����*
��
 *�� �����
%%
�� ����./��� ($�

y1(t) = L−1{ s + 1

s2(s + 3)
} =

1

3
((t − 1

3
(1 − e−3t)) + 1 − e−3t)σ(t)


'�
y2(t) = L−1{ s + 1

s2(s + 3)
e−2s}

�(�����% %����)���
���� %�� e−sL � (���&���)�
��� %��($� ����($���7���
���* %�� L ����������� � ����)�
��� ($� &� ������ ����./��� ($�

y2(t) = y1(t − 2)

,���
 *�� 
��

y(t) = y1(t) − y2(t) = y1(t) − y1(t − 2) =

=
1

3
((t−1

3
(1−e−3t))+1−e−3t)σ(t)−1

3
(((t−2)−1

3
(1−e−3(t−2)))+1−e−3(t−2))σ(t−2)

�


: 3�����
 ���� ��� '�����))�
�� �.���%�� *�� 
& ;��� �
�
����������
 ���
&
������:

s2 + (Kp − 1)s + Ki = 0

F���% 
�� 
�&���
 ��� 
& ������G��H��I ('� &� ($�7
��� ��
#��������
&������

Kp − 1 > 0,

Ki > 0.

,&�+ ��� '�����))�
�� �.���%�� �� ��
#��� �' Kp > 1 �/� Ki > 0+

#: ,�##�)�� � s = −ωn� *�� 
�� ��� �
�
����������
 ��&
������ ��
 &
�


(s + ωn)2 = s2 + 2ωns + ω2
n

 



F���% 
�� ������=��
 ���J/�������
 � �� �&' �
�
����������
 ��&
����
����
 ('� &� 
��

Kp − 1 = 2ωn

Ki = ω2
n

,���
 *�� ($�7
��� ����./� ($� ��*��
���)
�
%���
��
+

Kp = 2ωn + 1,

Ki = ω2
n.

/:

Gry(s) = T (s) =
F (s)G(s)

1 + F (s)G(s)
=

(2ωn + 1)s + ω2
n

(s + ωn)2

Gry(jω) =
(2ωn + 1)jω + ω2

n

(jω + ωn)2

|Gry(jω)| =

√
(ω(2ωn + 1))2 + ω4

n

ω2 + ω2
n

�


:

�r + � �e FPI(s) �+ � � Kp
�u

Gu(s) �+ ��
v

+
�

�−
�z Gugn(s) � �

y

�−

#:
Z = GuKp(FPI(R − Y ) − Z) + V

Y = GugnZ

��



8��� R = 0 �(�����% &� ��#
�� �� ���������
� 
& $&��($���*�(���������
(�'� v ���� z �
%� ���� �� ��� 
���
 ��&
������ � ��� ($���
 �/� �$� ��
Y + ,���
 *�� 
��

Y =
Gugn

1 + GuKp(1 + GugnFPI)

/: �(�����% &� �� ���������
� 
& ��� �'*(���&���
 ��$����*
� ��%)�����
�
;���� sin(ωt) ($� �%' ω:+ �(�����% ω → 0 �' �
� &� ������ �'�
 s → 0+
,���
 %��($� 
�� &� ('� ($�7
��� ($�����
�� $&��($���*�(���������+

Gugn(0) = K

Gu(0) = 1

�(�����% FPI �
� ������* ($���������* ($� �'*
 (���&����� �/� &� ���� &���
����
 %�� ������*����� �' �$7�� &� ��� � ����
 ��*� %�� 
�� 
))��E�%��

39���*�
�
���� %�� ;�' � �� �����:

FPI(s) ≈ 0.15

s
.

8����� &� �� ����
 ����./� � $&��($���*�(��������� (�'� v ���� y ('� &�

|Y (jω)

V (jω)
| ≈ ω

0.15Kp

=
ω

1.5

3' ����
��� ���� ('� &� � (
���� ��
� �
��
���*�����* 
��

Y =
Gugn

1 + GugnGuFPI

V

8��� �� $&��($���*�(���������
 �' s �� ����� *��

|Y (jω)

V (jω)
| ≈ ω

0.15

,&�+ �' Kp = 10 *�� �� �
��
���*�����* �� #����� ��%)���* 
& �'*(���
�&���
 ��$����*
� �� � (
���� �' %
� ���� 
�&����� ��* 
& �
��
���*���
���*+

��



�


: <�H���� "�
 �
* )' (7�����%
��
�.���%�� *��

mÿ(t) = Fd(t) − bẏ(t) − k1y(t) − k3y
3(t).

0������� $&�� %����� *��

Fd(t) + Ḟd(t) = Kmu(t).

1$� 
�� ����&
 )' ������'���(��% �' �������/��
� &� v(t) = ẏ(t)+ �� ('�
�'

⎡
⎣ ẏ(t)

v̇(t)

Ḟd(t)

⎤
⎦ =

⎡
⎣ v(t)

−k1

m
y(t) − k3

m
y3(t) − b

m
v(t) + 1

m
Fd(t)

−Fd(t) + Kmu(t)

⎤
⎦

#: 2����% ($��� &����� u0 ��% #��$&� ($� �'��
 ��* )' ��� $���
�� )����
������ y0 ;�&� 
�#���)������:+ �� ('� ����
 *���% 
�� ����
 
��
 �����
��'�������&
��� ���� � �/� �$�
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⎣ Δẏ(t)

Δv̇(t)
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